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=SS 20,000 15,5697 60,000 55,079
S 20,500 17,013 70,000 53,924
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BOD _ _
. - SS AR A £
BASE | (AESEE | L5 s oy
71ZR] 10 10 20 0.5
AlE] SR I AR 1.1 3.7 11.744 0.236
Ui IRy wa s A&ard 1.4 2015} 12,019 0.109
dl=7 nyy
1 (%J?;j;f%%. P 20 25 1314 0.102
2 Ues + E S 52 35 14.019 0.133
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A8 -
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AE] 1X2)AH yraE A AR5 1.1 205} 11.908 0.185
Ui oRjapY wa s Aeard 05 2015} 14718 0.178
1| g 2EPRE A% 22 25 14291 0221
2 | WREE ERHI| ARA 112 2590 7514 0.2%
3| WREE 9ot U AR 72 302.0 9.309 0282
‘3]’1‘]“ 4 | wEme ot G ZAA 98 2760 5544 0278
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AE | gy | 0| SRER SN BRI 4;%7}%31} 103 3970 5361 0.269
o4 peERL AR ) | e 71 1870 5230 0214
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9 A =) 71 2530 4629 0.249
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p e T S R ey -
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3 #1rea Il ER)E 35 2.4 14.430 0.128
B 4 ERR(#1H2 1 AFR) 3.1 3.6 9.088 0.126
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Al 5 ERRI(#1812 L 512) SR Rt 3 3.2 14.220 0.155
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